CARTESIAN (RE CTANGULAR) COORDINATES (x, 7, 2)
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SPHERICAL COORDINATES (R, 8, ¢)
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A-B= ABcosOsp Scalar (or dot) product

A x B = nABsinBsp Vector (or cross) product, i normal to plane containing AandB

L ABXO)= B-(Cx A)= C-(AxB)
Ax (BxC)= B(A-C)-—-C(AXB)
V(U + V)= VU+ vv
VUV)= UVWV+ VVU
V-(A+B)= V-A+ V-B
vV-(Ua)= UV-A+ A-VU
Vx (UA)= UV XA+ VUx A
Vx(A+B)= VX A+ VxB
V-(AxB)= B-(VxA)~—A~(VxB)
V-(VxA)=0
VxVV=20
V.-VV= V¥V
UxVxA= V(V-A)— VA
fv(V-A) dv =ngA-ds Divergence theorem (S enélosesxé)

fS(V x A)-ds= fc A-dl Stokes’s theorem (S bounded by C)
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